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1. (10 %) If m is an integer, and m? is divisible by 3, % 88: m is divisible by 3.
Hint: Every integer is of the form 3%, 34+1, or 3k+2. Assume that m is of the form 3k+1 or
3k+2, and consider m?.

2. (10 %) Construct a truth table for (q A%p)—-> (i” N ﬂq) , B¥-p RE"'"NOTp", AKX %k

"AND".

3.(10 ) @) = (s + by, sk £ () Rpae X 2 a8

4. (10 %) B #2543 9 2" > n?, where 7 is an integer greater than 4, Bp n=S5.

5.(10 4) K252 & 198 2 HAAE AR A EH.

6.(10 %) kaeZ, 31=06xa)modl03 #£4+1<a<102. Bpk a4 Oxa-1) g%

103 %Lk,

7. (10 %) Given a recursive definition of the sequence { a, }, where a,=n(n+1)+2.

8. (10 %) The recursive relation a, = 4a,-; — 4a,-, with ap= 1, a; =4, Kf# a, ;2 aj0.

9. A4={2,3,4,5,6}, the relation R=1{(a,b)|a<b,ac 4,be A},

#(a) R=? (10 %) b) R®=ReR=7 (10 %)





